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Given that p is a positive number.

If a and f3 are roots of px* - x — 1 =0,
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Find exp
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P, O and R represent the points 3 + i,
- 1 — i and 2i in Argand Diagram

If 2011, = 256, find x.

An integer consists of 2010 digits, each
of which is 2. What is the reminder when

Find a if a is a digit and the number
Sa6aTa8a9%a is divisible by 11.

9" term and the 17™ term is 76. Find the
15 term.
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. p HE Y 4 S T T R A B /M respectively. If £ PQR = l, n€EN, this integer is divided by 9?7
find the value of + - 2p. n
a+l B+1 what is n?
SEEH Hh BEHEE =1 A = 9= YE DIk

In an arithmetic sequence, the sum of the Find the unit digit of a4 =5 =10, K S + % F{E o Find the value of the expression If Crll + CZ +...+C = 4095, find n. If m and n are integers, m + n >0 and Find the coefficient of x* in the
2™ term, the 7™ term and the 17" term L2474 47200 a n 3n 5n Tn ! 21m + 4n = 1, find the minimum value of 1
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is 70 while the sum of the 3" term, the [cos 9 cos 9 cos 9 *cos 9 ] m+ n. expansion of 5 (L +x+x"+x +x7.
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An amount is deposited in a bank at
yearly compound interest rate 5% p.a.
At least after how many years, the total
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The sequence a,, a,, as, ... satisfies
a,=23,a,y=20and if n = 3, a, is the
arithmetic mean of the first (n — 1) terms.

When f(x) = x 2% - 1x + k is divided by
(x = 1), the remainder is 8. Find k.

AAABC X C =CCCDA, where A, B, C, D
are different digits. Find 10A + C.

In how many ways can you give six
different candies to two children if each
child must get exactly three pieces?

value of x> - 6x + 31.
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+ 8 + LA (correct to the nearest integer).
10 10
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east only, how many different paths are
there for him to walk from point A to
point C through point B?
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Given that cos’1° + cos*2° + cos?3° + ...
+ c0s°89° + c0s%90° = x. Find y if
3y=2x-2.
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How many parallelograms are there in
the following diagram?
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(x, y) is a point in the shaded region
(including the boundary) in the diagram.
Find the maximum value of 3x + 2y.

y
x+y =11

5x +6y
=60
2x+y =20
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and 3a,., = 2a,4 + a, for all integers n > 1.
Find lim a,,.

n—>o
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Q:If 1=5, 2=25, 3=125, & 4=525, what is 5 equal to?

Moivre was famous for de Moivre’s
Theorem, which connected complex
numbers and trigonometry. He also had
great contribution in probability theory.
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amount will be a double of the principal? \ Find a,. A
hcm
C
15 L 16 17 18 19 20 = 217
+= hcm + +H +x ++ +1 N
. . . .. 1 1 2 1 2 3 7 . . 1 ) 1
If x is a real number, find the maximum Find —+ —+ ?+ y + ) + y + ...+ 10 If a person can walk towards north or In the sequence {a,}, a, = 10, a, = 30, Birthday of Abraham de Moivre. De If x - — =5, find x¥*> + —. Three boxes marked 1, 2 and 3. How
X X

many ways are there putting 12 identical
balls into these boxes such that each box
contains at least the number of balls
marked on the box?
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